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Directions for the following 6 (six) items :
Read the following two passages and answer the items that follow each passage. Your answers to these items
should be based on the passages only.

Passage - 1

Accountability, or the lack of it, in governance generally, and civil services, in particular, is a major factor
underlying the deficiencies in governance and public administration. Designing an effective framework for
accountability has been a key element of the reform agenda. A fundamental issue is whether civil services
should be accountable to the political executive of the day or to society at large. In other words how should
internal and external accountability be reconciled? Internal accountability is sought to be achieved by internal
performance monitoring, official supervision by bodies like the Central Vigilance Commission and Comptroller
and Auditor General and judicial review of executive decisions. Articles 311 and 312 of the Indian Constitution
provide job security and safeguards to the civil services, especially the All India Services. The framers of the
constitution had envisaged that provision of these safeguards would result in a civil service that is not totally
subservient to the political executive but will have the strength to function in large public interest. The need to
balance internal and external accountability is thus built into the constitution. The issue is where to draw the
line. Over the years, the emphasis seems to have tilted in favour of greater internal accountability of the civil
services to the political leaders of the day who in turn are expected to be externally accountable to the society at
large through the election process. This system for seeking accountability to society has not worked out, and has
led to several adverse consequences for governance.

Some special measures can be considered for improving accountability in civil services. Provisions of
articles 311 and 312 should be reviewed and laws and regulations framed to ensure external accountability of
civil services. The proposed Civil Services Bill seeks to address some of these requirements. The respective
roles of professional civil services and the political executive should be defined so that professional managerial
functions and management of civil services are depoliticized. For this purpose, effective statutory civil service
boards should be created at the centre and in the states. Decentralization and devolution of authority to being
government and decision making closer to the people also helps to enhance accountability.

1.  According to the passage, which of the (a) 1 only
following factor/ factors led to the adverse (b) 2 and3 only
consequences for  governance/  public (c) 1and4only
administration? (d 2,3and4

1.  Inability of civil services to strike a

balance between internal and external
accountabilities

2. Lack of sufficient professional training
to the officers of All India Services.

3. Lack of proper service benefits in civil
services.

4. Lack of Constitutional provisions to
define the respective roles of
professional civil services vis-a-vis
political executive in this context.

Select the correct answer using
the code given below

With reference to the passage the following

assumptions have been made:

1. Political executive is an obstacle to the
accountability of the civil services to the
society.

2. In the present framework of Indian
polity, the political executive is no
longer accountable to the society.

Which of these assumptions is/ are

valid?
(a) 1only
(b) 2 only

(c) Both1and2
(d) Neither 1 nor 2
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5.

Which one of the following is the essential
message implied by this passage?

(2)
(b)
(©)

(d)

Civil services are not accountable to the
society they are serving

Educated and enlightened persons are
not taking up political leadership

The framers of the constitution did not
envisage the  problems being
encountered by the civil services.

There is a need and scope for reforms to
improve the accountability of civil
services.

Passage — 2
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According to the passage, which one of the
following is not a means of enhancing internal
accountability of civil services?

(a)
(b)

(c)
(d)

Better job security and safeguards

Supervision by Central Vigilance
Commission

Judicial review of executive decisions
Seeking accountability through

enhanced participation by people in
decision making process

In general, religious traditions stress our duty to god, or to some universal ethical principle. Our duties to
one another derive from these. The religious concept of rights is primarily derived from our relationship to this
divinity or principle and the implication it has on our other relationships. This correspondence between rights
and duties is critical to any further understanding of justice. But for justice to be practiced; virtue, rights and
duties cannot remain formal abstractions. They must be grounded in a community (common unity) bound
together by a sense of common union (communion). Even as a personal virtue, this solidarity is essential to the
practice and understanding of justice.

With reference to the passage, the following
assumptions have been made;

1.

Human relationships are derived from
their religious traditions

Human beings can be duty bound only
if they believe in god

Religious traditions are essential to
practice and understand justice.

Which of these assumptions(s) is/ are

valid?

(a) 1only

(b) 2and3 only
(c) 1and3only

(d)

1,2 and 3

Which one of the following is the crux of this

passage?

(a) Our duties to one another derives from
our religious traditions

(b) Having relationships to the divine
principle is a great virtue

(c) Balance between rights and duties are
crucial to the delivery of justice in a
society.

(d) Religious concept of rights is primarily

derived from our relationship to god
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A ate grapes and pineapples; B ate grapes and
oranges; C ate oranges, pineapples and apple;
D ate grapes, apple and pineapple. After
taking fruits, B and C fell sick.
In the light of the above facts it can be said
that the cause of sickness was:

(a) Apple
(b) Pineapple
(c) Grapes

(d) Oranges

Consider the following statements:

1. The rate of population growth is
increasing in the country

2. The death rate is declining faster in the
country compared to birth rate

3. The birth rate is declining faster in the
country compared to death rate

4.  Rural urban migration is taking place
regularly in the country

Which one of the following conclusions may
be true in the light of the above facts?

(@) The rate of population growth is
increasing due to rural-urban migration

(b) The rate of population growth is
increasing due to decline in death rate
only

(c) The rate of population growth is
increasing due to increase in birth rate
only

(d) The rate of population growth is
increasing due to faster decline in death
rate than in birth rate

A person X was driving in a place where all

roads ran either north-south or east- west,

forming a grid. Roads are at a distance of 1

km from each other in a parallel. He started at

the intersection of two roads, drove 3 km

north, 3 km west and 4 km south. Which

further route could bring him

back to his starting point, if the same route is

not repeated?

(a) 3 km east, then 2 km south

(b) 3 km east, then 1 km north

(¢) 1 km north, then 2 km west

(d) 3 km south, then 1 km north

10.

11.

12.

&
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Consider the following statement:

"We shall go either for a picnic or for

trekking".

Which of the following, if true, would

falsify this claim?

(a) We go for a picnic but not for trekking

(b) Activities such as picnic and trekking
are encouraged by the health authorities

(c) We go for trekking and not for picnic

(d) We do not go either for picnic or for
trekking

There were 50 faculty members comprising

30 males and rest females. No male faculty

member knew music, but many of the female

faculty members did. The head of the

Institution invited six faculty members to a tea

party by draw of lots. At the party it was

discovered that no member knew music. The

conclusion is that:

(a) The party comprised male faculty
members only

(b) The party comprised only those female
faculty members who could not give
renderings in music

(c) The party comprised both male and
female faculty members

(d) Nothing can be said about the gender
composition of the party

Five people A, B, C, D and E are seated about

a round table. Every chair is spaced

equidistant from adjacent chairs.

(i) Cisseated nextto A

(i1)) A is seated two seats from D

(iii)) B is not seated next to A.

On the basis of above information,

which of the following must be true?

1. Dis seated nextto B

2.  Eis seated next to A

3. D and C are separated by two seats
Select the correct answer using the code
given below:

(a) 1 only
(b) 1and?2only
(c) 3only

(d) Neither 1 nor 2 nor 3
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13.

15.

16.

17.

18.

There are five hobby clubs in a college-
photography, yachting, chess, electronics and
gardening. The gardening groups meets every
second day, the electronics group meets every
third day, the chess group meets every fourth
day, the yachting group meets every fifth day
and the photography group meets every sixth
day. How many times do all the five groups
meet on the same day within 180 days?

(@ 5
(b) 18
(©) 10
(d 3

14.

&
There are some nectar filled flowers on a treg
and some bees are hovering on it. If one bee
lands on each flower, one bee will be left out.
If two bees land on each flower, one flower
will be left out. The number of flowers and
bees respectively are:

UPSC MAINS 2016 Paper AFE

(a) 2and4
(b) 3and2
(¢c) 3and4
(d 4and3

Directions for the following 5 (five) items : Consider the following information and answer the

five items that follow:

There are five persons in a group - P, Q, R, S and T. The group has one doctor, one lawyer
and one artist. P and S are unmarried students. T is a man married to one of the group members.
Q is the brother of P and is neither doctor nor artist. R is not doctor.

Who is the doctor?

(@ T
(b) P
© Q
d R

Who is the artist?

(a P

®) Q

(c) R

(d T

Who is the spouse of R?
(a P

(b) T

(0 Q

(d S

Who is the lawyer?
(a P

®) Q

(c) R

(d S

19.

20.

Who of the following is definitely a man ?
(a P

(b)) S

(¢ Q

(d) None of the above

There is an order of 19000 quantity of a
particular product from a customer. The firm
products 1000 quantity of that product per day
out of which 5% are unfit for sale. In how
many days will the order be completed ?

(a) 18

(b) 19
(c) 20
(d 22
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Directions for the following 5 (five) items : Read the following two passages and answer the items that follow
each passage. Your answers to these items should be based on the passages only.
Passage - 1

Biomass as fuel for power, heat and transport has the highest mitigation potential of all renewable
sources. It comes from agriculture and forest residues as well as from energy crops. The biggest challenge in
using biomass residues is a long term reliable supply delivered to the power plant at reasonable costs: the key
problems are logistical constraints and the costs of fuel collection. Energy crops, if not managed properly,
compete with food production and may have undesirable impacts on food prices. Biomass production is also
sensitive to the physical impacts of a changing climate.

Projections of the future role of biomass are probably overestimated, given the limits to the sustainable
biomass supply, unless breakthrough technologies substantially increase productivity. Climate energy models
projects that biomass use could increase nearly four fold to around 150-200 exajoules, almost a quarter of world
primary energy in 2050. However the maximum sustainable technical potential of biomass resources (both
residues and energy crops) without disruption of food and forest resources ranges from 80-170 exajoules a year
by 2050, and only part of this is realistically and economically feasible. In addition some climate models rely on
biomass based carbon capture and storage, an unproven technology to achieve negative emissions and to buy
some time during the first half of the country.

Some liquid biofuels such a corn- based ethanol, mainly for transport, may aggravate rather than
ameliorate carbon emissions on a life cycle basis. Second generation biofuels, based on lingo-cellulosic
feedstocks- such as straw, bagasse, grass and wood - hold the promise of sustainable production that is high
yielding and emit low levels of greenhouse gases, but these are still in the R and D stage.

21. What is/ are the present constraint/ 22.  Which of the following can lead to

constraints in using biomass as fuel for food security problem?

power generation? 1. Using agricultural and forest

1. Lack of sustainable supply of residues as feedstock for power
biomass generation.

2. Biomass production competes 2. Using biomass for carbon
with food production capture and storage

3. Bio-energy may not always be 3. Promoting the cultivation of
low carbon on a life cycle basis energy crops

Select the correct answer using the Select the correct answer using the

code given below- code given below:

(a) 1 and 2 only (a) 1and?2only

(b) 3 only (b) 3 only

(©) 2 and 3 only (c) 2and3only

(d) 1,2 and 3 (d 1,2and3
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qTel TR & IR QITY | §9 TR & 37U Sk URewal W ARG & 8+ a1y |
aR=eq — 1

T, SO 3R URTET & 369 & ©U | SITAET (TR BT GATHR0T FHIAT T TdIHRoi SArdl
A Aftd 2| T8 P 3R a9 Irafdrel, Ay & JFoli—Hae F U BNl 7 | SIgHET IARNS] B ITART FHRA
e g1 gA wfda—wAdE@ H SR and R @1 Siearell el [JvgaH defa gid € 8, g
FAARIY GuaTaa (ATRedHd) feRE IR FEHA—HI-o @l oFd g | AR Soi—haal & Ifad AT 4
Udee | 81 dl, d 37 SIed ® AT URRuEl BRAl © SR 3 B Bl IR ITDT I 3R TS Hebdl
2 | SIgHTAT BT TG URaceI SIearg & e gral & g A1 dde-eiia 8iar 2 |

9 d@ A-URd] IAEhdl & IRYd ©U H 9 9gN, a9 dd IR ST gid &1 Ammil &1
Q@ BY, SIGAMET B HIdl fHST BT FIad: aRddhdl | 3d JAM SR AT & | STAdg—FHoll Ufosey
I8 Udhfeqd HRd © b 2050 H RAMN B SUIRT ST ARYAT 9@ B 150—200 USATS[el 8l Hball & Sl
fop faeq & g Sofl a1 9T Th—aileTg & | U] WIe Ud a0 Gl &1 $lg fa=rer fby fa=, 2050
e Ufay qRART EERFED B MfSHad gRUI dedid! R (Tafde iR Sl BEd i) 80—170
RISl & URER # BNl iR 9T R Us ofFr aafass ok onfdies wu & g BN | 39 JMfaRad v
STefarg Uiy D ool T HR 3R Idleal & Jae § B geold e & oy iR e
BT TIEYT Ud Aadd W, S fh U M ienfirey €, onfda 2|

EB T Vagdd oY Ay YRGS, TE WU W URGET gq, Silad s AR gaRl Uigl &
B Sldged oI b gordl, WIS, 919 3R IS (9 ORI IATGA &I TR I8 8 Sl 3o TG ]
Il B qAT FFesd A9 & T WR BT o BN, fheg 9 31 T 1T SR favelyur & aRoT # |

21.  Yfdd—o4 & U Siaqm=n & $99 & U | 22 fa=faRed & 9 foeas /fead &R

SKIATA HRA H Als[ar a1 /9y &1 7/ GTEI—GRET & FART B Fahell &7
g7 1, fIT— gg SN vd a9 Safdret
1. ST @ gRVg gfcd &1 s BT RO (Preei®) & ©9 H
2. ST SATE I —3cdTed & 1T ST HRAT

gforgert 81 Sar ® 2, SITHTAT BT BIed YUY UG Fodd
3. HI—FHoll, SaT—dh IR R, Fad @ foTT SUART HRAT

f—aras T8 8 Ao 3. Soll—HHA! B B BT qerar T
= QU T e BT WA IR HE IR T QU U e BT WM IR HE IR
g - g
(a) I 1 AR 2 (a) DI 1 AR 2
(b) I 3 (b) I 3
() Pl 2 AR 3 () Pl 2 AR 3
(d) 1, 2 3R 3 (d) 1, 2 3R 3



23.

In the context of using biomass, which of the
following is/ are the characteristic/
characteristics of the sustainable production of
biofuel?

1. Biomass as a fuel for power generation
could meet all the primary energy
requirements of the world by 2050

2.  Biomass as a fuel for power generation
does not necessarily disrupt food and
forest resources.

3. Biomass as a fuel for power generation
could help in achieving negative

24.

emissions, given certain  nascent
technologies
Select the correct answer using the code given
below:
(a) 1 and 2 only
(b) 3 only
(©) 2 and 3 only
(d) 1,2 and 3
Passage — 2
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With reference to the passage, following

assumptions have been made:

I. Some climate-energy models suggest
that the use of biomass as a fuel for
power generation helps in mitigating
greenhouse gas emissions.

2. It is not possible to use biomass as a
fuel for power generation without
disrupting food and forest resources

Which of these assumptions is/ are valid?

(a) 1only

(b) 2 only

(c) Both1and2

(d) Neither 1 nor 2

We are witnessing a dangerous dwindling of biodiversity in our food supply. The green revolution is a

mixed blessing. Over time farmers have come to rely heavily on broadly adapted, high yield crops to the

exclusion of varieties adapted to the local conditions. Monocropping vast fields with the same genetically

uniform seeds helps boost yield and meet immediate hunger needs. Yet high-yield varieties are also generically

weaker crops that require expensive chemical fertilizers and toxic pesticides. In our focus on increasing the

amount of food we produce today, we have accidentally put ourselves at risk for food shortages in future.

25.

Which among the following is the most logical and critical inference that can be made from the above

passage ?

(a) In our agricultural practices, we have become heavily dependent on expensive chemical fertilizers
and toxic pesticides only due to green revolution.

(b) Monocropping vast fields with high-yield varieties is possible due to green revolution

(c) Monocropping with high-yield varieties is the only way to ensure food security to millions.

(d) Green revolution can pose a threat to biodiversity in food supply and food security in the long run



23.
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SIgHET & SN & ey H, fA=foRad # 24. 39 URWT & Hew #, FfoRad gduroeny
DI/ PHA—BIHI,  Sld-589 B IR TS TS o
SiCIERECA B CNERIPAGRECIRA 1. §OB JTAdg—Holl Ued Ig GeIKd ©
1. 2050 TP, AfFI—SHT & 389 & wI H fo sf]d 999 & so9 & wU H
SiqqET 9 favg & 9l weafie ol IR BT ST HFEsd 19
3aRIdhdmall @1 g 8 dahdl 8 ISl BT BF B H ARS8l 2
2. G 999 @ 399 @ ®U H SlgqrET | 2. YA-SF9 @& 389 b w9 H SN
Wel Ud 99 SEEl BT 3Maedd wd o BT SUANT HRAT, Qe U 9 A
3. {B I&EH UEIfeAl @ A of S QAUROS § Bl 9 7 /50
IGT 9 & U9 B ®U W STgAmE, (a) DI 1
FOTHD IO U B H ABID (b) DI 2
HGEZIRS © 18R 2 g
9 RT T HE B U W FE ST d) T, T8 2
gfre:
(@) DI 1 AR 2
(b) Bad 3
() Bael 2 3R 3
(d) 1,2 3R 3

qR=eT — 2
B AU Wi # Slo—fafdydr & wdwTe dH g I 2| BRA Hifd Ue FHe—gar aweH 2 |

TAY & AT, [FAF B FHRAT e w5 A U T Sed UGl dlell Bdl IR 954 SUd dedl T
2 3R T I <Rl 9§ sM@edr Y@ drell fehw B Bred MU 7| favne @l # mgdRied: v
(Sl IFAHE) ISl B Th—Hdell Wl I 961 85 SUS UK B 3R Y& I dlchlicld SRexdl Dl O]
A # Age el 71 durfd, ST Suw darell fhe odfiea: gda wad ff B ® e forg W&
RIS SaReT SR AR SleARrd! bl Sokd 8l § | SUY O X Wra—uarRll @1 760 96 W 8l
3T YT & Bfad B, & S H WIH Bl Ml WG B & SIRgd H ST 9& 2 |

25.

Sudad uRzee | F=falRad # 9 o9, |99 doad iR Foiae ey (57%39) Farer S

Addr 2?

(@) o B ugfoal # g0 dad R Fifd & R 7T ARG IR MR v drerea!
R IMenRd R & T '

b) faemer WAl § ST IUS dTell B B Yh—Hdel Tl 8RT Hifd & BRI I &

(c) T=a IuS drell &S & Th—hdell WAl BRAs) ANl & oy @ gRem GARead & &l
THAT IRIBT §

(d) =R wifa, < P H WY 3R Wre GReT H Sa—AfdeT & foy GaRT T dR Al ©




26.

27.

28.

A class starts at 11:00 am and lasts till 2:27
pm. Four periods of equal duration are held
during this interval. After every period a rest
of 5 minutes is given to the students. The
exact duration of each period is:

(a) 48 minutes

(b) 50 minutes

(¢) 51 minutes

(d) 53 minutes

Four friends A, B, C and D needs to cross a
bridge. A maximum of two persons can cross
it at a time. It is night and they just have one
lamp. Persons that cross the bridge must carry
the lamp to find the way. A pair must walk
together at the speed of slower person. After
crossing the bridge the person having faster
speed in the pair will return with the lamp
each time to accompany another person in the
group. Finally the lamp has to be returned at
the original place and the person who returns
the lamp has to cross the bridge again without
lamp. To cross the bridge, the time taken by
them is as follows: A: 1 minute, B: 2 minutes
C: 7 minutes and D: 10 minutes. What is the
total minimum time required by all the friends
to cross the bridge?

(a) 23 minutes

(b) 22 minutes

(c) 21 minutes

(d) 20 minutes

30 g of sugar was mixed in 180 ml water in a
vessel A, 40 g of sugar was mixed in 280 ml
of water in vessel B and 20g of sugar was
mixed in 100ml of water in vessel C. The
solution in vessel B is:

(a) Sweeter than that in C

(b) Sweeter than that in A

(c) Assweetas thatin C

(d) Less sweet than that in C

29.

30.

31.
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In aid of charity, every student in a class
contributes as many rupees as the number of
students in that class. With the additional
contribution of Rs. 2 by one student only.
The total collection is Rs. 443. Then how
many students are there in the class?

(a 12

(b) 21
(c) 43
d) 45

Anita's mathematics test had 70 problems
carrying equal marks i.e. 10 arithmetic, 30
algebra and 30 geometry. Although she
answered 70% of the arithmetic, 40% of the
algebra and 60% of the geometry problems
correctly, she did not pass the test because she
got less than 60% marks. The number of more
questions she would have to answer correctly
to earn a 60% passing marks is:

(@ 1
(b) 5
(c) 7
(d 9

In a class, there are 18 very tall boys. If these
constitute three-fourths of the boys and the
total number of boys is two-thirds of the total
number of students in the class, what is the
number of girls in the class?

(a) 6

(b) 12
(c) 18
(d 21



26.

27.

28.

Udh Hel Jaigd 11:00 g9l URH BRI © 3R
SIURTES 2:27 IOl I BIell ® | §9 SfaxTd
¥ R W afy & NiRTs B 21 uAD
RIS @ 9 BEI & 5 e &1 fasm
fear omar 21 e GRIe @ de-di®
3afey fpa+r 87

(a) 48 fide
(b) 50 e
() 51 fA-e
(d) 53 fAde

IR 3 A, B, C 3R D &I & Jd &I UR
HRAT 21 gl BT Th FHg H 3t 9§ Al
3 R UR IR FHhd 2| [ BT AT B
qqr I U dael UH dleed & | gol UR
B Il DI IR el b foly drefed o
S =M@Y | T A1 Tell aTel &l edfdadl
@ W T ardl AT DI AA F TG
BN | T UR &_1 & dqre, ol Afdqal 4 4
SITT Ao Fol Tl Afdd, Ud dR 370+
ARl B gA UR HRAT IR, dAleled  died
O Wle SAAT| 3 H ofleied Bl 39
Tl I W IGAT & TAT dAlefed a9 &
qrel AfdT BT dlcd & TR Yol R BRAT
2| g UR & & folg 9 gRT foram
I T YPR & A 1 fa9e, B 1 2 fiFe,
C :7 fA9e, D : 10 f91e | IRT =31 gRT gd
IR HA b U g fhan gAdH T
3MIeTE 27?

(a) 23 e
(b) 22 e
(c) 21 fide
(d) 20 e

9= A H 30 UTH IGRT BI 180 A o H
e a1, U B H 40 UTH IHRT BT 280
Bl oo # e &k U C #H 20
UM BT BT 100 Al ST § A T
U B &7 faeraq &ar 27

@) C & fogw ¥ e Her

20.

30.

31.
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(b) A & faeras 9 efe Mo
() c & fder s & | Hiel
(d) c @ o= | &4 Hier

gl g H, fRft Ferm § ud® faeneft Sa
SR T & Rraer S9 werm | faenfay o
W& Bl dad Uh fdEmff @& 2 I
IfARFT &1 W FI I 443 THA gU & |
ar wer § fhaw faemeff 87

) 12

(b) 21

( 43

)
) 45

)

FfaT &1 IO TRIeT | 70 WeH WHIA bl
@ o 599 10 ST &, 30 ST &
R 30 AT & 9| Tl ST FHford
B 70%, ST & 40% iR SOfAfa @
60% Ul BT Hal SR fear, 98 uxem H
A% T8l g8 Mild IAD b 60% A A
| Su9 fhad 3R yeHAl & I8 Sax fav
g, R f6 S 60% &1 UT uTdie e
AT BT 87

(a)
b)

)
)

—_
© N O -

oo

TUh Fel H 18 ASdH 9gd oW | I A
ASH, ASH B Gl A B A B
IR TSHI B WA AT b BEI DI R
T B 3T AR 7, A el H arsfeal &
T RIT 8?

(@) 6

b) 12

c) 18
d) 21

—~ o~



UPSC MAINS 2016 Paper AFE

16

32. Consider the following statements: 33. The monthly average salary paid to all the

1.  Either A and B are of the same age or A employees of a company was Rs. 5000. The

is older than B monthly average salary paid to male and

2. Either C and D are of the same age or D female employees was Rs. 5200 and Rs. 4200

is older than C respectively. Then the percentage of males

3.  Bisolder than C employed in the company is:

Which of the following conclusions can be (a) 75%
drawn from the above statements? (b)y 80%
(a) Aisolder than B (c) 85%
(b) B and D are of the same age (d)  90%

(c) Disolder than C
(d) Aisolder than C

Directions for the following 3(three) items: Consider the given information and answer the
three items that follow.

Six boxes A, B, C, D, E and F have been painted with six different colours viz., violet, indigo, blue,
green, yellow and orange and arranged from left to right (not necessarily either kept or painted with the colours
in the same order). Each box contains a ball of any one of the following six games : cricket, hockey, tennis,
gold, football and volleyball (not necessarily in the same order). The golf ball is in violet box and is not in the
box D. The box A which contains tennis ball is orange in colour and is at the extreme right. The hockey ball is
neither in box D nor in box E. The box C having cricket ball is painted green. The hockey ball is neither in the
box painted blue nor in the box painted yellow. The box C is fifth from right and next to box B. The box B
contains volleyball. The box containing the hockey ball is between the boxes containing golf ball and
volleyball.

34.  Which one of the following boxes contains 36. The football is in the box of which colour?
the golf ball? (a) Yellow
(a) F (b) Indigo
(b) E (c) Cannot be determined as data are
(cy D inadequate
(d) None of the above (d) Blue

35. Which of the following statements is/ are
correct?
(a) D is painted yellow
(b) F is painted indigo
(c) Bis painted blue
(d) All of the above
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32.  faefoRed deoMl W faar divi: 33. fHdl &/ & Wt dHaIRAl &1 AIRkTS
1, qT Al A IR B & UHh IR MY & AT da9 %, 5000 AT| Y U A
IJTA B I TS B HHATRAT Bl Ugcd HARYD NFd da- Ha:
2 AT A C AR D @1 Y IR M & %. 5200 TAT B. 4200 AT| HFAT H HRRA
I D,C ¥ I 7 oY HHATRAT &1 gfereraar & &?
B,C | 99T ®
E'CI'{IEH Al | FfaRad § | A () 75%
frepy 1T ST Fdhdr 87 (b) 80%
(@) A B ¥ g9 ® () 85%
(b) B 3R D Udh IR 3 & & (d) 90%
() D,C ¥ 93T 8
d) A CH TS B

AT T aTet 3 () uearen & forg fder - f=faRed g w faeR o= gy omr fay v 9 geien &
IR SR |

w: g9l A, B, C, D, E 3R F &I ©: faf=1 -7+, SmaHi, HAiett, &1, Uielm 3iR AR & 17 747 ©
IR ST I W TR BT 3R HH H W AT & QawId el b S hH B N H I IV (AT A IY) |
UG 999 § B Wdl-fhde, gal, <, e, gedid IR dfefidiar &1 A # 4 o8 & 5 & T
(@mazad T f S HH H) Meb o) Ag S 999 # 2 MR 98 D 999 H Tl ¥ | 999 A &1, w2
AR IMARM IR BN IR P IA A B BB D A T AN gad D # 8, 7 81 999 E H | 9949
C & RNrad e @1 g 8, 7 &0 8| Bl &I g Il 999 9 Al Al 9T & T 8, 9 & Gt 37 |
gd C i} 3R I Uiad 39 IR 2 3R 99 B & 99 H © | 999 B H dieildidd & | Bb! BT g arall 94,
Mo & T aTel IR diclidliel Tl gl & §9 H 2 |

34. fa=foRad & 9 -1 999 § M dY g 36. Wedial fhd T & gy H 27

2? (a) et

(a) F (b) JITAATT

(b) E (© s A 8 & dRUT FEiRa
©) D &1 fobar S Hepar

@  Swe W P (@ e

35. foefoRad & 9 ST /9 HUF 9El 2 /87
() D drer <7 ¥ <R

) F STIHHT 7 9 9§

) B el 37 A T 8

@)  Swfe wn



37.

38.

Two numbers X and Y are respectively 20%
and 28% less than a third number Z. By what
percentage is the number Y less than the
number X?

@) 12%
(b) 10%
©) 9%
d) 8%

A daily train is to be introduced between
station A and station B starting from each end
at 6 AM and the journey is to be completed in
42 hours. What is the number of trains needed
in order to maintain the shuttle service?

(@ 2
(b) 3
(c) 4
(d 7

Directions for the following 8(eight) items:
Read the following eight passages and answer the item that follows each passage. Your answers
to these items should be based on the passages only.

39.

40.

Passage — 1
By killing transparency and competition, crony capitalism is harmful to free enterprise, opportunity and
economic growth. Crony capitalism, where rich and the influential are alleged to have received land and natural
resources and various licences in return for payoffs to venal politicians, is now a major issue to be tackled. One
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A piece of tin is in the form of a rectangle
having length 12 cm and width 8cm. This is
used to construct a closed cube. The side of
the cube is:

(a) 2cm
(b) 3cm
(c) 4cm
(d 6cm

In a question paper there are five questions to
be attempted and answer to each questions has
two choices - True (T) or False (F). It is given
that no two candidates have given the answers
to the five questions in an identical sequence.
For this to happen the maximum number of
candidates is?

(a) 10
(b) 18
(c) 26
(d 32

of the greatest dangers to growth of developing economies like India is the middle income trap where crony

capitalism creates oligarchies that slow down the growth.

41.

Which among the following is the most logical corollary to the above passage?
(a) Launching more welfare schemes and allocating more finances for the current schemes are urgently

needed

(b) Efforts should be made to push up economic growth by other means and provide licences to the

poor

(c) Greater transparency in the functioning of the government and promoting the financial inclusion are

needed at present

(d) We should concentrate more on developing manufacturing sector than service sector.
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37. T A&EU X AR Y, o IR den oz |
HHT: 20% TAT 28% HH T | TAT Y H=AT 39. o &1 Us Ther M @ Amdfa # ¥
X ¥ foas ufaed &9 27 R =g 12 F9 dr dAss 8 9l §
(a) 12% SAGT SN &R UH d< o4 g faar
(b) 10% ST 8| 99 B Sl @ ol 9T 2°
(c) 9% (a) 2
(d) 8% (b) 3 A
(c) 4 HHY
38. WIE A IR Wy B & d19, AP IF A (d) 6 T

6 g5l I8 da dlell, fd NelTS! IRH
DI T 7, AR Tg AST 42 ©el H Q0 B 40. UH YTH-UF H U@ UeAl R YA fhy S

ST R fha e # Yemfedt @ 2 R TP U b SR B al [Adhed —
BT R {6 wred a1 oIy %8 ? |Er (T) 3ferar Tord (F) | I8 fear & 8 &
(a) 2 fewsl M <1 uRenfefal =1 dfal ue=l & SR
(b) 3 THAA A W el AU 2| W BN &
© 4 forg wemfeiat &1 rfdrpaw e faaer 27
) 7 (@) 10

(b) 18

(©) 26

d) 3

NI 3 dTel 8 (31M3) el & forw fader : mfeiRad ame uR=sel &1 ufgd o yxe uRwes & uwan
3T aTel JEARN & Sk SIRNTY | S99 TRl & 3ud Ik URTaT IR MMenRd & 8 =12y |
IRz — 1
URERIAT 3R YRR & A &R |, BIFI—Uoiarg (H—dbiucllon) Jaad IqiH, aER AR
amfdfer wTfa & fory g eR® 2| wr—dsiare, 4 gMga iR yvTaeiell Afddll W I8 STRIY & rdl &
% S=H ICER! ISIT=l BT g0 B SHH AR UIPiad GareE dor A= arse o< fdy &, 31|
U UHE Hgal a9 1 & A fues & Sie’d 8| 9Rd oIl fasraeiiel siefegerensil @ |gfa @ forg
g 95d Il Gaxl a—ad—ud (Afed g9 ¢u) & W8l p—ysiiare sieqdai (ffermate) &1 [
PRAT & S §afg BT e IR < B |
41, ST IR BT WaEE aidE  SUHTHT (FRlere) FefalRad # & ST &7
(@) oMUETHT JAfEH HATTHRI WHIAI DI ART PR AR AT WoHI & foly verda Afde o
Efed B BT Achlel MITTHAT &
b) e e & g ARIAT W UdIed &) Ud [0 &1 g SR &) &1 I fan
NIGIRCHEY
€) T H IR & HRI-UUTel B AR IR qen Ol §9de & giearfed & &l
SICRDE I
(d) & 9a1 eFd B ST AT 85 BT [qhrT B W IMed &I dfed dRAT a1fay
Passage - 2
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Climate adaptation may be rendered ineffective if policies are not designed in the context of other
development concerns. For instance, a comprehensive strategy that seeks to improve food security in the
context of climate change may include a set of coordinated measures related to agricultural extension, crop
diversification, integrated water and pest management and agricultural information services. Some of these
measures may have to do with climate changes and others with economic development.

42. What is the most logical and rational inference that can be made from the above passage?
(a) It is difficult to pursue climate adaptation in the developing countries
(b) Improving food security is a far more complex issue than climate adaptation
(c) Every development activity is directly or indirectly linked to climate adaptation
(d) Climate adaptation should be examined in tandem with other economic development options.

Passage - 3
Understanding of the role of biodiversity in the hygrological cycle enables better policy making. The term
biodiversity refers to the variety of plants, animals, microorganisms and the ecosystems in which they occur.
Water and biodiversity are interdependent. In reality the hydrological cycle decides how biodiversity functions.
In turn vegetation and soil drive the movement of water. Every glass of water we drink has, at least in part,
passed through fish, trees, bacteria, soil and other organisms. Passing through these ecosystems, it is cleansed
and made fit for consumption. The supply of water is a critical service that the environment provides.

43. Which among the following is the most critical inference that can be made from the above passage?
(a) Biodiversity sustains the ability of nature to recycle water
(b) We cannot get potable water without the existence of living organisms.
(c¢) Plants and animals and microorganisms continuously interact among themselves
(d) Living organisms could not have come into existence without hydrological cycle.

Passage - 4
In the last decade, the banking sector has been restructured with a high degree of automation and products
that mainly serve middle class and upper middle-class society. Today there is a need for a new agenda for the
banking and non-banking financial services that does not exclude the common man.

44. Which one of the following is the message that is essentially implied in the above passage?
(a) Need for more automation and more products of banks
(b) Need for a radical restructuring of our entire products finance system
(c) Need to integrate banking and non-banking institutions
(d) Need to promote financial inclusion

uReg—2
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STdry AJhHAT AT Bl AP © Al GAN b Heael WRIPRI & Fad H Afadl ®I sifpiond
T8I fhar ST | IIEROT b AR WR, U AMH UM, S STofdry uRdas & dad H @re el &l gl
B BT YA BT B, PN UER, HEA A gaipd Sid T died UdEE IR By gEEr darll o
HId FAfaaq Ul & VS GBI, AHfeld @R Fdhdl ©| 37 9 §B SUF Saary uRddd ¥ 3R
37 QU e famrd & Hdfda & wad 2|

42. IUYFd IRTST | DI FaAld ThaTd IR Foigs sy (S9w39) Farar S dadn 272
(@) [APTTeiel <= H STefaryg Tgder™ SIRI @Al o o

b) GTel GRAT Bl AMglG BIAL, STAary ST DI Uell FHel 31D Siicd (95 &

c) TS fABrTHS fharhary Jerd: a1 IUed: STodry gdhe ¥ ISl ©

d) STetaTyg, e B gEr JAM® [Abr fadbedl & Haer § uRier &1 Sl @12y

o~ o~
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Sl ¥ H Sig—fafdedr @1 e B FHS g8 AIo— T § WeRIe Bl © | Sia—fafdudr e
3@ faredl & uredl, wIfordl, geroial 1 iR 391 TIRAS! &I, fd 9 ue o &, [ &wrar 21 9 8iR
Sig—fafderdr v R W R 2| ada # Sl 9 | I8 MREd BT & 6 Sio—fafduar 9 el aRa
g1 ® ¥, 9T 3R Ja&T O & yare B MEiRa aRd 21 &) P o ot o g9 Ud ©, B9 9 5
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43. ST YRz ¥ FEfRad § | $I=9r Haitts Foias 6y (ST039) e 51 dadar §7?
a) St fafderdr, uefa & S & gm0 @ qeed 9 I 2

b) Shifad Sial (@IRFer) @ ia@ @ 99T 89 U STdl Ut Tl & dhd
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Safe and sustainable sanitation in slums has immeasurable benefits to women and girls in terms of their
health, safety, privacy and dignity. However women do not feature in most of the schemes and policies on
urban sanitation. The fact that even now the manual scavenging exists, the only goes to show that not enough
has been done to promote pour-flush toilets and discontinue the use of dry latrines. A more sustained and
rigorous campaign needs to be launched towards the right to sanitation on a very large scale. This should
primarily focus on the abolition of manual scavenging.

45. With reference to the above passage, consider the following statements:
1. Urban sanitation problems can be fully solved by the abolition of manual scavenging only
2. There is a need to promote greater awareness on safe sanitation practices in urban areas
Which of the statements given above is/ are correct?
(a) 1only
(b) 2 only
(c) Both1and2
(d) Neither 1 nor 2

Passage - 6
To understand the nature and quantity of government proper for man, it is necessary to attend to his
character. As nature created him for social life, she fitted him for the station she intended. In all cases she made
his natural wants greater than his individual powers. No one man is capable, without the aid of society, of
supplying his own wants; and those wants, acting upon every individual, impel the whole of them into society.

46. Which among the following is the most logical and rational inference that can be made from the above
passage?
(a) Nature has created a great diversity in human society
(b) Any given human society is always short of its wants
(c) Social life is a specific characteristic of man
(d) Diverse natural wants forced man towards social system

Passage - 7

The nature of the legal imperatives in any given state corresponds to the effective demands that state
encounters, and that these, in their turn, depend, in a general way, upon the manner in which economic power is
distributed in the society which the state controls.
47. The statement refers to:

(a) The antithesis of Politics and Economics

(b) The interrelationships of Politics and Economics

(c) The predominance of Economics over Politics

(d) The predominance of Politics over Economics

uReE—5
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About 15 percent of global greenhouse gas emissions come from agricultural practices. This includes
nitrous oxide from fertilizers; methane from livestock, rice production and manure storage; and carbon dioxide
(CO2) from burning biomass, but this excludes CO2 emissions from change account for another 17 percent of
greenhouse gas emissions each year, three quarters of which come from tropical deforestation. The remainder is
largely from draining and burning tropical peatland. About the same amount of carbon is stored in the world's
peatlands as is stored in the Amazon rainforest.

Which among the following is the most logical and rational inference that can be made from the above

passage?

(a) Organic farming should immediately replace mechanized and chemical dependent agricultural

practices all over the world

(b) It is imperative for us to modify our land use practices in order to mitigate climate change
(c) There are no technological solutions to the problem of greenhouse gas emissions
(d) Tropical areas are the chief sites of carbon sequestration

A person climbs a hill in a straight path from
point 'O' on the ground in the direction of
north-east and reaches a point 'A' after
traveling a distance of Skm. Then, from the
point 'A' he moves to point 'B' in the direction
of north-west. Let the distance of AB be 12
km. Now, how far is the person away from the
starting point 'O'?

(a) 7km

(b) 13 km
(c) 17km
(d) 11km

An agricultural field is in the form of a
rectangle having length X1 meters and
breadth X2 meters (X1 and X2 are variable).
If X1 + X2 = 40 meters, then the area of the
agricultural field will not exceed which one of
the following values?

(a) 400sqm
(b) 300sqm
(c) 200sqm
(d) 80sgqm

The sum of the ages of 5 members comprising

52.

53.

a family, 3 years ago was 80 years. The
average age of the family today is the same as
it was 3 years ago, because of an addition of a
baby during the intervening period. How old

is the baby?

(a) 6 months
(b) 1 year
(c) 2years

(d) 2 years and 6 months

The total emoluments of two persons are the
same but one gets allowances to the extent of
65% of his basic pay and the other gets
allowances to the extent of 80% of his basic
pay. The ratio of the basic pay of the former
to the basic pay of the latter is:

(a) 16:13
(b) 54
(c) 75
(d) 12:11

A person is standing on the first step from the
bottom of a ladder. If he has to climb 4 more
steps to reach exactly the middle step, how
many steps does the ladder have?

(@) 8
(b 9
(c) 10
(d 11
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(@) 8

(b) 9

() 10

(d) 11



Directions for the following 3 (three) items :

follow.
When three friends A, B and C met, it was found that each of them wore an outer garment of a different
colour. In random order, the garments are : jacket, sweater and tie; and the colours are : blue, white and black.
Their surnames in random order are : Ribeiro, Kumar and Singh. Further, we know that:

54.

55.

56.

57.

1. Neither B nor Ribeiro wore a white sweater

C wore a tie
Singh's garment was not white
Kumar does not wear a jacket

SARNANE el

What is C's surname?

(a) Ribeiro

(b) Kumar

(c) Singh

(d) Cannot be determined
What is the colour of the tie?

(a) Black
(b) Blue
(c) White

(d) Cannot be determined

Who wore the sweater?

(@ A
(b) B
) C

(d) Cannot be determined

AB is a vertical trunk of a huge tree with A
being the point where the base of the trunk
touches the ground. Due to a cyclone, the
trunk has been broken at C which is at a
height of 12 meters, broken part is partially
attached to the vertical portion of the trunk at
C. if the end of the broken part B touches the

ground at D which is at a distance of 5 meters

Ribeiro does not like to wear the black colour
Each of the friends wore only one outer garment of only one colour

38.

59.
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Consider the given information and answer three items that

from A, then the original height of the trunk

1S:

(a) 20m
(b) 25m
(¢) 30m
(d) 35m

A person walks 12 km due north, then 15km
due east, after that 19km due west and then

15km due south. How far is he from the

starting point?
(a) Skm

(b) 9km

(¢) 37km
(d) 6lkm

A cube has all its faces painted with different
colours. It is cut into smaller cubes of equal
sizes such that the side of the small cube is
one fourth the big cube. The number of small

cubes with only one of the sides painted is:

(a) 32
(b) 24
(c) 16

d 8
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60. Ram and Shyam work on a job together for

four days and complete 60% of it. Ram takes 62. If R and S are different integers both divisible

leave then and Shyam works for eight more by 5, then which of the following is not

days to complete the job. How long would necessarily true?

Ram take to complete the entire job alone? (@) R-Sisdivisible by 5

(a) 6days (b) R+ Sis divisible by 10

(b) 8days (c) R *Sisdivisible by 25

(¢) 10 days (d) R2/8S2isdivisible by 5

(d) 11 days
61. A military code writes SYSTEM as SYSMET 63. How many numbers are there between 100

and NEARER as AENRER. Using the same and 300 which either begin with or end with

code, FRACTION can be written as : 2?

(a) CARFTION (@ 110

(b) FRACNOIT (b) 111

(c) NOITCARF () 112

(d) CARFNOT (d) None of the above

Directions for the following 8 (eight) items : Read the following five passages and answer the items that
follow each passage. Your answers to these items should be based on the passages only.
Passage - 1

As we look to 2050, when we will need to feed two billion more people, the question of which diet is best
has taken on new urgency. The foods we choose to eat in the coming decades will have dramatic ramifications
for the planet. Simply put a diet that revolves around meat and dairy, a way of eating that is on the rise
throughout the developing world, will take a greater toll on the world's resources than one that revolves around
unrefined grains, nut, fruits and vegetables.

64. What is the critical message conveyed by the above passage?

(a) Our increasing demand for foods sourced from animals puts a greater burden on our natural
resources

(b) Diets based on grains, nuts, fruits and vegetables are best suited for health in developing countries

(c) Human beings change their food habits from time to time irrespective of the health concerns

(d) From a global perspective, we still do not know which type of diet is best for us.

60. 9 3R M fHA dR Bl A b forw IR
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All humans digest mother's milk as infants, but until cattle began being domesticated 10,000 years ago,
children once weaned no longer needed to digest milk. As a result, they stopped making the enzyme lactase,
which breaks down the sugar lactose into simple sugars. After human began herding cattle, it became
tremendously advantageous to digest milk, and lactose tolerance evolved independently among cattle herders in
Europe, the Middle East and Africa. Groups not dependent on cattle, such as the Chinese and Thai, remain

lactose intolerant.

65.  Which among the following is the most logical assumption that can be made from the above passage?
(a) About 10,000 years ago, the domestication of animals took place in some parts of the world
(b) A permanent change in the food habits of a community can bring about a genetic change in
its members
(c) Lactose tolerant people only are capable of getting simple sugars in their bodies

(d) People who are not lactose tolerant cannot digest any dairy product

Passage - 3
"The conceptual difficulties in National Income comparisons between underdeveloped and industrialized
countries are particularly serious because a part of the national output in various underdeveloped countries is
produced without passed through the commercial channels."
66. In the above statement, the author implies that:
(a) the entire national output produced and consumed in industrialized countries passes through
commercial channels
(b) the existence of a non-commercialized sector in different underdeveloped countries renders the
national income comparisons over countries difficult
(c) No part of national output should be produced and consumed without passing through commercial
channels
(d) A part of the national output being produced and consumed without passing through commercial

channels is a sign of underdevelopment
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An increase in human made carbon dioxide in the atmosphere could initiate a chain reaction between
plants and microorganisms that would unsettle one of the largest carbon reservoirs on the planet - soil. In a
study, it was found that the soil, which contains twice the amount of carbon present in all plants and Earth's
atmosphere combined, could become increasingly volatile as people add more carbon dioxide to the
atmosphere. This is largely because of increased plant growth. Although a greenhouse gas and a pollutant,
carbon dioxide also supports plant growth. As trees and other vegetation flourish in a carbon dioxide-rich
future, their roots could stimulate microbial activity in soil that may in turn accelerate the decomposition of soil
carbon and its release into the atmosphere as carbon dioxide.

67. Which among the following is the most logical corollary to the above passage?

(a) Carbon dioxide is essential for the survival of microorganisms and plants

(b) Humans are solely responsible for the release of carbon dioxide into the atmosphere

(¢) Microorganisms and soil carbon are mainly responsible for the increased plant growth

(d) Increasing green cover could trigger the release of carbon trapped in soil

Passage - 5

Historically, the biggest challenge to world agriculture has been to achieve a balance between demand for
and supply of food. At the level of individual countries, the demand supply balance can be a critical policy issue
for a closed economy, especially if it is a populous economy and its domestic agriculture is not growing
sufficiently enough to ensure food supplies, on an enduring basis; it is not so much and not always, of a
constraint for an open and growing economy, which has adequate exchange surpluses to buy food abroad. For
the world as a whole, supply-demand balance is always an inescapable prerequisite for warding off hunger and
starvation. However, global availability of adequate supply does not necessarily mean that food would
automatically move from countries of surplus to countries of deficit if the latter lack in purchasing power. The
uneven distribution of hunger, starvation, under or malnourishment etc. at the world level, thus owes itself to
the presence of empty pocket hungry mouths, overwhelmingly confined to the underdeveloped economies.
Inasmuch as a two square meal' is of elemental significance to basic human existence, the issue of worldwide
supply of food has been gaining significance, in recent times, both because the quantum and the composition of
demand has been undergoing big changes, and because in recent years, the capabilities of individual countries to
generate uninterrupted chain of food supplies have come under strain. Food production, marketing and prices,
especially price-affordability by the poor in the developing world, have become global issues that need global
thinking and global solutions.

68. According to the above passage, which of the following are the fundamental solutions for the world food
security problem?

1. Setting up more agro-based industries

2. Improving the price affordability by the poor

3. Regulating the conditions of marketing

4.  Providing food subsidy to one and all

Select the correct answer using the code given below:

(a) 1and?2only

(b) 2and3 only

(c) 1, 3and 4 only

(d 1,2,3and4
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Www%agamwwzﬁw Wmsﬁ?qw?ﬁwﬁwﬁ%maaﬂé?aﬁgﬁ
g, ANl & W qlgﬂsm # iR @1 B Bred WM W TAM wU | AIReR Bt AT | T ifdreniera:
qeugig H I & HRU BAT & | JU PEA SiRAGAEsS Ud UHERH 149 AR Ud Ugud ¥, I8
UeugfE B Uieaied W el § | 9P g IR O gl wias # g arell Fed Sssifaass o
JeRAl H Held—held! §, SAdI o qaT H geroidl &I fhameiierar & URT &R Fadl § Sl IRUMAwE™Y
HET—HE @ JTECH DI 3R Aol B IYAVSA H HIa- SR3ARISS & oo H Jfg B Fhdl o |
67. TfeiRad H | &9 41, Sua uRzes T Fa¥ 31 ThATd IUFRTHA (BRI 27?

(@) geAoNdl IR UIeUl & AIRA@ @ oy H1ee STeiiaarse RAYIS ©
b) aTgHSA H BT SEITRISS AT oA & foly A9 T TRE SRR &
) ucUgfg & TP @ oy I wU | geona iR HeT FHE SaRerR ®
(d)  aME BRI 3meRer gaT H Yad BEA DI AT DI URT BR Addl ©

aR=sT—5

Ui wU ¥, [Ivg—a & arF, Wre & 910 3R gid & 4 Sged U< BRA1 e del gAl]
R T | e <l B WR W AR—YRd Hqed 45 sefdaven & fofy v e fifond qgear 81 | &,
fRveR afs 98 o SeAagd idaReT 2 SR IAD! Bl PN, Wl MER R yAi| @re gid T8
IR UT IE T | I8 S99 Gad 3R dedl gz orRiwRe & fou, e U kel 9 @ B9 aRA B W
A IRy &, I 91, 3R 7 & |ad 8 drell, dreaar 2| favd & forg w9y w9 4, ART—qfd dder,
g AT Y@ F 9919 TG, Fad o UF URed gE-ud 2| denfy, wafa ufcd @ fovaemnd Suderdr &
AaeID HU A g8 Hleld T8l © b Wrel W ARRY el 2 F S J|EIR < Bl AR, [ urd
HI—WMKT BT MG 2 <Al ST | I favd WR W 3@, YR, g UINOT AT HUAWY AMS BT SRFA
fIaRoT el SEi aTel RI AN B AR @1 9oig ¥ 8, Sl g8a ®U H Iffddmiid seiagarere ao iid
2| SIEl dd JARRYT AFd ARG & foly T gad & WRUS HISF &1 TIAd A8 8, SqH @ Bl
feqemdt qfdf & 4ge @I, BT & aul H AT QT B WYl BT e saer FHT s B
gaarel H I 3fg & | We—Sred, fauur iR wEd, faever fJereie fdvg 4 el gRT dEd g8
FR B ewaT, favaed gee 99 1Y 7, foa favaemd Riad ok fowgamdt |\ srawas © |
68. SWIad uRTT & ATAR, fIvq @ e & fog F=forRad # & 3 Jeng & 27

1. VTP AfD P T8 B DI &AAT DI FERAT
TREl §RT BHT 989 PR DI Rl Bl GERAT
3. fauor &1 <=msll &1 AT BRAT
4. B UD DI el YD G&T bRl
At {2 U de BT YANT BR el IR G

) @ad 1 3R 2
b) ®ad 2 R 3
) Daa1, 334
d 1,2 33R4

N
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70.

71.

According to the above passage, the biggest

challenge to world agriculture is:

(@) To find sufficient land for agricultural
and to expand food processing
industries

(b) To eradicate hunger in underdeveloped
countries

(c) To achieve a balance between the
production of food and non-food items

(d) To achieve a balance between demand
for and supply of food

According to the above passage, which of the

following helps/ help in reducing hunger and

starvation in the developing economies?

1.  Balancing demand and supply of food

2. Increasing imports of food

3. Increasing purchasing power of the poor

4.  Changing the food
patterns and practices

Select the correct answer using the code given
below:

(a) 1only

(b) 2,3 and 4 only

(c) 1and3only

(d 1,2,3and4

The issue of worldwide supply of food has

gained importance mainly because of:

consumption

1. Overgrowth of the  population
worldwide

2. Sharp decline in the area of food
production

3. Limitation in the capabilities for
sustained supply of food

Select the correct answer using the code given

below:
(a) 1and?2only
(b) 3 only

(c) 2and3only
(d 1,2and3

72.

73.

74.

UPSC MAINS 2016 Paper AFE

34

Four-digit numbers are to be formed using the

digits 1, 2, 3 and 4 and none of these four

digits are repeated in any manner further.

1. 2 and 3 are not to immediately follow
each other.

2. 1is not to be immediately followed by 3

3. 4isnot to appear at the last place

4. 1isnot to appear at the first place

How many different numbers can be formed?

(a) 6

(b)y 8

(¢) 9

(d) None of the above

A cylindrical overhead tank of radius 2m and
height 7m is to be filled from an underground
tank of size 5.5m * 4m * 6m. How much
portion of the underground tank is still filled
with water after filling the overhead tank

completely?
(a) 1/3
(b)y 172
(c) /4
(d) 1/6

In a class of 60 students, where the number of
girls is twice that of boys. Kamal a boy
ranked seventeenth from the top. If there are 9
girls ahead of Kamal, the number of boys in
rank after him is:

(a 13
(b) 12
(c) 7



69.

70.

71.

(d 3

Sua uRees & AJAR, fIva pN & |He

qqd S gAK Fa1 27

(a) PV B T YA U FRAT AR
Gl UNERHRUT S BT AR
BHRAT

(b) JAHIT = H @ BT
ST XA

(c) e Vg IR (AF—hs) %3l &
IAed @ 41 AT U HRAT

(d) el @ AR SR MY & 4™
[T T HRAT
Sa  uRwes @ oFER, fdemeld

feEwerell H @ SR YW HeM H,

FrefaRad § 9 fad /o werar e

87

1. el @ AR SR SMgfd & 4

HeAT BT

2 e T H gl Bl
et @1 waefa ¥ gig H
g SUENT gfeEHl SR gl o
EESICASIE|

Ry T FHE B TR TN FE IR

%@fﬁ >

Wﬁlw—qﬁ $ HAga DI T

fheh / fdpeTas IRV HE UT gall 27

72.

73.

74.
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fAegam wu ¥ SO P

[N

sfagfe
2. Wel ST & &9 H dig FRae
3. |ad Gregfd g edmRll § R
T QU T g BT WM PR FE IR
LR
(@) Bael 1 3R 2
(b) Bad 3
() Hae 2 3R 3
(d) 1,2 3R 3
b 1, 2, 3 AR 4 B AP TIR-IPI

&G 91 B | 91 IR el d ¥ &l uh
B A By o T & i TE e g,
qerm

1. 2 3R 3 U TN & Yhad 3 UIe

el B Add
2, 3,1 ® UHhad WY 98! 81 Adhdl
3. 4 3ifH IMF W T8 3 Fhal
4. 1 U WM WR ol 3 Fhdl

B g HEag 99 Had! &7
@) 6
(b) 8
( 9

)
@ e QB N

U JAHR 3des cdl &, s Hoan
2H SR SHag 7 A T, 55 W 4 H. 6 L
A9 drell Bl ATd <@ B ST FOWNT
ST 2 | 3ieRes Tl Bl YR WR o+ & 915,
RISt BT fhaeT 9RT T | T 2

(@) 1/3
(b) 1/2
(c) 1/4
(d) 1/6

60 faenfeial @Y uep ®em H Wal asfear
ASHI H G AT H B, PAA (TP AShI)
B ¥b W I F-dT 2| I HHA I Ug
A osfear 2 1 BHA B 98 B N H




75.

76.

77.

fra @ 8°?
(@) 13
b) 12

_
O
~ —

=

A and B walk around a circular park. They
start 8 a.m. from the same point in the
opposite directions. A and B walk at a speed
of 2 rounds per hour and 3 rounds per hour
respectively. How many times shall they cross
each other after 8.00 a.m. and before 9.30
a.m.?

(@ 7
(b) 6
() 5
(d) 8

W can do 25% of a work in 30 days, X can do
s of the work in 10 days, Y can do 40% of
the work in 40 days and Z can do 1/3 of the
work in 13 days. Who will complete the work
first?

(@) W
(b) X
() Y
(d 7

The average monthly income of a person in a
certain family of 5 is Rs. 10,000. What will be
the average monthly income of a person in the
same family if the income of one person
increased by Rs. 1,20,000 per year?

78.

79.

80.
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(@) Rs. 12,000
(b) Rs. 16,000
(¢) Rs. 20,000
(d) Rs. 34,000

In a race, a competitor has to collect 6 apples
which are kept in a straight line on a track and
a bucket is placed at the beginning of the track
which is a starting point. The condition is that
the competitor can pick only one apple at a
time, run back with it and drop it in the
bucket. If he has to drop all the apples in the
bucket, how much total distance he has to run
if the bucket is 5 meters from the first apple
and all other apples are placed 3 meters apart?

(a) 40m
(b) 50m
(c) 75m
(d) 150m

A round archery target of diameter 1 m is
marked with four scoring regions from the
centre outwards as red, blue, yellow and
white. The radius of the red band is 0.20m.
The width of all the remaining bands is equal.
If archers throw arrows towards the target,
What is the probability that the arrows fall in
the red region of the archery target?

(a) 0.40
(b) 0.20
() 0.16
(d) 0.04

A person allows a 10% discount for cash
payment from the market price of a toy and



75.

76.

77.

still he makes a 10% gain. What is the cost
price of the toy which is marked Rs. 7707

(a) Rs.610

(b) Rs. 620

(c) Rs.630

(d) Rs. 640

A ¥R B Uel defd gU T JibR Ul Bl
FIFHI W B 9 I I 8 Fof Th &l
fig & AT fawmstl ¥ aa 1 ¥o a4 & |
A 3R B @ A1 HHI: 2 FdDH] YT Hel

3 IIH Ufd TSl B UIA: 8 99 & drg el
gTa: 9.30 9o 9 Yd d fha+l IR Th—gR &

AT | IOINA?

(@) 7
(b) 6
(c) 5
(d) 8

W &l & & 25% W &I 30 feAl #
PRAT &; X S BRI & 1 /4 9T Bl 10 =1
HHar 21 Y 9 & B 40% R Bl 40
feai § Brar 2 3R 2 99 & & 1/3 NI
Bl 13 AT H o1 T B BT AIH U

DI GRT BATT?
(@) w

(b) X

() Y

(d) Z

5 fdadl & fhdl te gRarR # ufa aafdq
JAEd T 3. 10,000 Ufd AT 21 I IRIAR

78.

79.
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H yfy ofad oirad smg oar erft afe fadl
Uh Afdd HI 3T F 9$.1,20,000 U 99§ @I

gfg &1 Sl 87

(@) . 12,000
(b) . 16,000
() %. 20,000
) 5. 34,000

Bl <t H Ud URcRIrl &1 6 ¥4 Udd I
21 V9 Th R NG H B 2 W
g 2 R 2% & URW # qrec) T TS ® S
b dre &1 URY fdg 21 W & FREgER,
Ui U R H ®Hadt Yo dd IoT Favdl
§ 3R S PR A SIS PR Y dlec] H
STl FHAT B | 9! | Ugd A9 B W 5
Hlex g T7 9t W 3-3 X B W W
g | Ife uferrft &1 et § 'l 9 Srem
g ar ufoEnft &1 @ fead Q@ S R T
HAT B?

(@) 40 HIex
(b) 50 HIcx
(c) 75 HIcX
(d) 150 HIex

IRl & fFN g@eR e (ERIE) @,
fTI®T T 1 HIex 8, 38X | 918 @ 3R
IR [ H — o, e, dren iR dwe —
M AT | AT 9 B Brean

020 HicX 2| I d=ei P drsls THTA
2] 39 JA@R wc ERIC) @ SR
URE™l gRT dR g oM W, Rl &
TRAC & o e (d%) # o= & uri¥rdhan
T 27

(@) 0.40
(b) 0.20
() 0.16
(d) 0.04
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80. ®I3 afdd Bl Raadiq @t 3ifhd dwd W, (a) %. 610
TG YITAE & o1y, 10% 8 <l & o (b) %. 620
S 10% T o™ Bar B S9 Rgd™ @ (c) 3. 630
STY T TP IE WIETTT IRTDT T I T el S T b 7 Flel ]
770 ©7
a4 : C-AMC-0-ICK TRIETOT GRIBT A
Y 9. )
[ ] URIEToT GRTeRT
MR 3T
e = - 11
~— @@
[ Wa?ava’] [ gl : 200 ]
: REG : :
1. T8 UR9 B @ gR< 918, MU 39 WRIEV RAPT B Usdld (a¥d IR of b 99 PIs 91 Bl
Bl a1 Bl gl YSS 31efal Ui JAfe <1 & Al U1 & al 59 Hel weror YRadl | §&el ailforg |

FUIAT A9 T fF OMR STR—U7® ¥, IR ®M R, Jd TR AR GR&0 gRAasT aspA (IR

®re) A,B,C AT D I, &9 4 U9 o1 f&dll g&p a1 e & w1 3R ggag o o Rerm

SHEAR 31 B | fH ff TR & g /iy o Rafd # Sar—13e e &= e SR |

9 URIET0T YRGBT TR AT ﬁﬁanﬂwmﬁaMcmaTq:rr[ ]

gepHid foemTT & | TRieTor gRAST IR 3R §B 7 ford |

9 WRIeT0T gRAST H 80 U (W) AU MY 7| UAS gAY fFI SR SRSH Il W B 7| IS

Uee H AR YR ([R) fAU U B 9 9 Uh U@k Bl g of, RO Y SaR—UFd W 3Afdhd

ERAT AEd T | AR 3MUD! VAT o fh T & e TR 981 8, a1 99 gk @l Sifhd ax Sl

3MIPHT FaTeTH ol | UAH YR & folY pger v & IR g &

3MIRT 3T T TR 3felT ¥ Ay Ty IaR—u=ad W &7 3ifrd o | Sak—u=a # Ry 7y fcy

<R |

T gl & S |AE T

S Ugel & wRieror gRAeT & A= geARl @ URiaR SaR—UAd W 3ifhd IRAT PH DY,

JATIBT YaIRT YAV & A1 UMNT el & AJAR B [JaR0T STR—TFDH H < ¢ |

3MY o AT TIRI B STR—TFAH H IR & d18 qAT TIEl & FH0 R Dael Sak—uad AfeTdh

DI Y < | JAMYDT U 1T W01 GRADT of ST DI AAN &

Fed B S oy wFE TReTor gRAST & 1 H Hel |

T SaRl & forg <0s

SHITaR R Ay T Tera Sarl & oy gvs faar s |

() AP U & oI IR Idhfeud IR B, SHIGIR §RT T S9 Saik & folv s forw €3 8,
fQu T e Tad SR @ fow ue 2 ad fy T sl @1 Uh—fass g & wU H dIel
SITQATT |

(i) I ®IE IHCIR TP ¥ 3P IR <al &, dl 59 Terd SeaR AT g, Jefy Ry v St
# ¥ UH SR FE B 7, R ofl 39 U & oy SWeargeR €, S aje &1 < e s,
afe 3wa forg < 2
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(i) I SFICaR gRT DI U &A el (hal Al 2, AT SHIGAR gRT SR el fadl ST g,
9 U @ forg @8 <8 T8 fear S|

[ 9 I 3MMUDT Ig INIE0r GRABT Wie BT T el WY a9 db = Tiel ]

Note : English version of the instructions is printed on the front cover of this Booklet.



